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Geometry Notes Section 10-6: Circles and Arcs

Circle:
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Semicircles, Minor arcs, and Major arcs
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Find the measare of each arc in ©OF.
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36 Think About a Plan Nina designe a’sﬁ%&ﬂa@cﬁ
made nf wroughi iron for the top of Hrentranie. The
nine segmenis behween the fwo concentric semicircles
are cach 3 ftlong. Whar s the total length of wrought iron
used to maka this structure? Round your answer to the
nearest foot. '
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4%, Landscape Design A landscape architect is constructing a
curved path through a rectangular yard. The curved path
consists of two 90° arcs, He plans to edge the two sides of the
path with plastic edging. What is the total length of plastc
edging be will need? Round your answer to the nearest meter.
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55. Conrdinate Geometyy Find the Jength ul‘@:é}:fhicirclé}@h endpoints (1, 3 and

{4, 73, Round your answer 1o the neatest tenth,
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8, Error Analysis Your class mast find the ﬁ e ——
lengpth of AB. A classmate subraits the ( The Feslicon oo Lok Mg N
following solution. What is the errar? y : ¢ : ‘
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Geametry Notes Section 10-7: Area of Circles and Sectors

Area of a Circle
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38, In a circle, a 90° sector has area 367 in.? What is ﬁ@&gﬁf the circle?
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